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Unit 7 - Week 5:

Course outline

Assignment 5

How to access the Portal?
The due date for submitting this assignment has passed. Due on 2019-10-02, 23:59 IST.

Week 0 : Assignment 0 As per our records you have not submitted this assignment.

Week 1: " The net positive suction head which represents the suction head at the impeller eve 15 given by 1 point
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® Lecture 21: Characteristics of
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® Lecture 22: Matching of Pump

and System Characteristics : .. : - . !
e anEnEE where p, is the pressure at the liquid surface in the sump which 1s usuvally the atmospheric

® Lecture 23: Diffuser and

S e pressure, A, 15 the vertical height of the impeller mnlet from the hquid surface m the sump

_ and /15 1s the loss of head in the suction pipe.
® Lecture 24: Tutorial - VI

® Lecture 25: Tutorial - VI a
Quiz : Assignment 5 .
C

Feedback for week 5 d

Week 6: Mo, the answer is incorrect.
Score: 0

Accepted Answers:
Week T: d

Week 8: 2) 1 point

The mintmum value of NPSH recommended by the pump manufacturer 15 6.5 m. Water 15 being

Details Solution pumped a rate of 0.3 m’ | 5 _The water level at the sump 15 1.25 m below the pump. Atmospheric

pressure is 98.70 &V /m” and the water temperature is 20°C. If the total head loss in the suction
pipe 15 1.20 m, what among the below statements 1s true? (Take vapour pressure of water as 2.34

IN ! m” and specific weight of water at 20°C as 9.78 &N/ ml)

(a) The pump 1s affected by cavitation effects since NPSH 1s greater than the minimum
recommended value.

(b) The pump is safe from cavitation effects since NPSH is greater than the minimum
recommended value.

(c) The pump 1z affected by cavitation effects since NPSH 1s lesser than the minimum
recommended value.

(d) The pump 1s safe from cavitation effects since NPSH 1s lesser than the minimum

recommended value.
a
b
c
d

Mo, the answer is incorrect.
score: 0

Accepted Answers:
b

31 A centrifugal pump running at 500 rpm and at its maximum efficiency is delivering a head of 30 1 point

m at a flow rate of 60 litres per minute. If the rpm 15 changed to 1000, then the head H in metres

and flow rate Q) i litres per minute at maximum efficiency are estimated to be:
(a) H=120m and Q=1201it/min
(b) H=50m and Q=>501[it/min
(c) H=120m and Q=>501[it/ min
(d) H=10m and Q=1201[1t/ min

a
b
c
d

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
a

4] Assertion (A): The efficiency of a pump is generally less than that of a turbine. 1 point

Eeason (R): Although the losses in the two tyvpes of machines are of the same kind. the losses 1n
pumps are more due to flow separation and formation of eddies.

(a) Both A and R are individually true and R 1s the correct explanation of A

(b) Both A and R are indrvidually true but E is not the correct explanation of A
(c) A 1s true but R 15 false

(d) A 1s false but R 1s true

a
b
c
d

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
a

3] Match List-I (Outlet vane angle 53, ) with List-IT (Curves labelled 1, 2 and 3 in the given 1 point

figure) for a pump and select the correct answer using the codes given below the Lists:

ListI ListII

A B <90° 3

B. S, =90

C. B =90 Head H 5

-1

—_— e

Discharge

(&) 1 2 3 (b) 1 3 2
(c) 2 1 3 (d) 3 2 1

a
b
G
d

Mo, the answer is incorrect.
score: 0

Accepted Answers:
a

&) 0 points

A

()
0 scharge
Tvpical characteristics of a pump are as shown in the grven fisure. Based on this figure, match

List-I with List-IT and choose the correct answer using the codes given below the lists:

List I List IT

A Curve A
B. Curve B
C. Curve C

Discharge versus head
Head versus discharge

Input power versus Discharge

i

Efficiency versus discharge

Codes: A B C A B C
(a) 2 4 3 (b) 1 3 2
(b) 1 4 3 (d) 4 3 1

a
b
G

d

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
d

7l Consider the following statements regarding the pump and svstem characteristics for a 1 point

centrifugal pump:

(1) The pomnt of intersection between the system characteristics and the pump characteristic on
head-discharge plane 1s the operating point.

(11) The point of mtersection between the system characteristics and the pump characteristic on
efficiency-discharge plane i1s the operating point.

(111) The operating point may or may not he at the design point.
Out of the above statements:

(a) (1) and (1u1) are correct

(b) (11) and (111) are correct

(c) onlv (1) 15 correct

(d) (1), (1) and (111) are correct

a
b
c

d

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
a

81 The correct sequence of the centrifugal pump components through which the fluid flows is: 1 point

(a) Impeller, Suction pipe, Foot valve and stramner, Delivery pipe
(b) Foot valve and stramner, Suction pipe, Impeller, Deliverv pipe
(c) Impeller, Suction pipe, Delivery pipe. Foot valve strainer

(d) Suction pipe. Delivery pipe, Impeller, Foot valve and strainer
a
&)
C

d

Mo, the answer is incorrect.
acore: 0

Accepted Answers:
b

9 Assertion (A): The volute casing of a centrifugal pump helps in creating the high velocity head 1 point

necessary for enabling water flow upwards to a higher level
Eeason (E): The water flows through a diverging passage in the volute chamber.
(a) Both A and R are individually true and R 1s the correct explanation of A

(b) Both A and R are individually true but B 15 not the correct explanation of A
(c) A 1s true but R 15 false
(d) A 1s false but R 1s true

a
b
G

d

Mo, the answer is incorrect.
Score: 0

Accepted Answers:
d

10} Consider the following statements pertaining to a centrifugal pump: 1 point

1. The manometric head 1s the head imparted by the impeller to the water.
2. The suction pipe 15 provided with a foot valve and a stramner.

3. The delivery pipe 1s provided with a foot valve and a stramner.

Of these statements:

(a) 1, 2 and 3 are correct
(b) 1 and 2 are correct
(c) 2 15 correct

(d) 1 and 3 are correct
a
b
C

d

Mo, the answer is incorrect.
score: 0

Accepted Answers:
c



